} [pb/GeV]

o Jets

0]
| cdotN

t,1
out

o P

107

107

Ratio to ATLAS

0.5

107t

13000 GeV pp ff
EI_ I I T | T I I | _'E
= top =
- P_" (ATLAS ttbar) -
m  ATLAS 5

-.g-- Pythia 6.428 391

| - % Pythia 6.428 393 .
— - e-- Pythia 6.428 394 E
— - - Pythia 6.428 395 -
L _ -

.0 .., -
B g

.
:_ N :.Q.- [ | _:
- -
- NS E
- K .
B : -
E| | | | | | | I | | |E
:l | I I [ I 1 1 | I ':
RS = EEE B :

} = T T~ T —

l | I I l 1 ] .\.ﬁ] | ] ]
° 200 400

1
P’ | [GeV]

Rivet 3.1.10, = 2.6M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


